Subject: Re: create an UTM grid
Posted by David Fanning on Mon, 28 Nov 2011 22:38:49 GMT

View Forum Message <> Reply to Message

David Fanning writes:

> xstart = [xycenter[0]-49995
> ystart = [xycenter[1]-49995

Sorry, this should have been 50000-500=49500:

xstart = [xycenter[0]-49500
ystart = [xycenter[1]-49500

Cheers,

David

David Fanning, Ph.D.

Fanning Software Consulting, Inc.

Coyote's Guide to IDL Programming: http://www.idlcoyote.com/
Sepore ma de ni thui. ("Perhaps thou speakest truth.")
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